14. Cvicéeni

Urcete derivaci nasledujicich funkci (véetné podminek):

T 3 1 1
1) 2% -2 2 2 3) —= 4
3— 2?2 x?—1
5) z/x 6) . 7) e 8) z-Inx
9) 2% - cosx 10) (x +4) - Jx 11) z - arctgz  12) 20 3
3z +1
23 sinz + cos VT r?
1 14) ———— 1 16) —
3) 72 -1 ) sinx — cos T ) r+1 6) nx
17) In(5x +3) 18) In(1 — x) 19) e3*15 20) e
21) esin® 22) cotg( T — ) 23) (22 +5)°  24) (3z 4 2)?
1
25) (7 — )3 26 27 28) V3z — 1
29) sin(z?) 30) cos2 31) tg2 (g) 32) cos?(3z — )
1 1
33) In (x + 1) 34) In - 35) 2c0s@ 36) arctg (2 — z)
xr — xr

37) arctg (vz)  38) In(vVaz2+1—z) 39) 2% e * 40) z - /1 — a2

x3 3r2 +1 arctg x z- (22 + 32+ 4)
41) ——— 42) ————= 43) —— 44
)(x—1)2 )(1—x2)3 ) 1+ a2 ) (r+1)3
3.2 . 3 1 2. (Tx+6
15) x° - ( —1—??:) 46) x (x—|—3) 47) ( +£L‘)5 48) x? - (Tx 4+ 6)
(1+z) (x+1) (1—2) V14
2—Inz z-(2lnz—1) x+1 2¥ +1
49 50 5l) —— 52
) 21/ ) In? 2 ) V 2 )3x+1
Vysledky: 1) 62° — 5, © € R; 2) 3395, x # 0;3) =5, x # 0; 4) 4x1f,
x> 0;5) 3¢z, z €R; 6) -2, 2z € R; 7) 2 4,:c7é08)1n:13—|—1x>0
2 o . 4(z+1)
9) 2zcosxr — zisinx, © € IEE,( 20)) sz L x # 0; 11) arctgz + e T € Ry
11 1, z7(x”—3 . 2 ™ .
12) (3x—|—1)2’ x 7é 3 ) (z2-1)2 > x 7& +1 14) _(sm:c cosx)?? x 7& 4 + k?ﬂ',

15) 5 At s, 2> 0; 16) 2@l z e (0,1)U(1, 00);17) 52,
x < 1;19) 36345 7 € R; 20) St zeR 21) cosz- ¥, 3 € R; 22) — ooy
x # kT;23) 102z + 5)4, = € R 24) 6(3z + 2), = e R; 25) —3(7 — )%, » € R;

26) _m, T £ —5;27) — = 2)3, x # 2; 28) 2\/—1, x> 3; 29) 322 cos(z?),

x € R; 30) —2coszsinz, z € R; 31) Smgm,ac;éﬂ—I—Qkﬂr
32) —12c0s3(3x — ) -sin(3z — ), x € R; 33) — %5 =1 x € (—o0,—1) U (1, 00);
34) —=, T > 0 35) —sinx - 299%% '1112, S R, 36) m, T € R 37) m,

z > 0; 38) _W’ r € R; 39) z(2 — z)e™ ™, z € R; 40) \1/2_332, r € (—1,1);

41) GEGR, @ # 15 42) T o # 1 43) TSRS, o e Ry 44) 00,
22 (22 +42+6 2(z+4)(1+x)?
x # —1; 45) # v # 1 46) %%, 7 # —1; 47) % z £ 1

48) x(35x2—|—60m—|—24), x> —1; 49) 3lnz—8 . 0; 50) 21n? m—33mlnm+2, z € (0,1)U(1, 00);

x> —32:18) — 2

1—a?

NGs 4V In
51) 3\/_’ x #0; 52) 2%.3%(1112-}23135 In2—3" ln3, r cR.



